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A Fast Fiber Implementation for Ruby 1.9

Satoshi Shiba† and Koichi Sasada

In this presentation we show a fast Fiber implementation for Ruby 1.9. Fiber supports
concurrent programming and is useful for concurrent processing with state. However, the im-
plementation of Fiber in Ruby 1.9 has performance problem. We implemented a faster Fiber
for Ruby 1.9 and evaluated it on various environments. As a result, our proposed implemen-
tation is faster than the current one in most case. In this presentation we evaluate the ability
for current Fiber implementation and proposed Fiber implementation. We also evaluated the
effect of faster fiber implementation on practical Ruby application using Fiber.
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#Fiber

def movecharactor(c)

case c.status

when INITIALIZE

#

c.status = STATUS_1

when STATUS_N

c.status = FINALIZE

when FINALIZE

#

end
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RECURSIVE = 0 #

COUNT = 3000000 #Fiber

def nest(i)

if i == 0 then

while true do

Fiber.yield

end

else

1.times do

nest(i-1)

end

end

end

fiber = Fiber.new do

nest(RECURSIVE)

end

COUNT.times do

fiber.resume

end
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a = Array.new(SIZE)
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GC.disable

i = 0

while true do

fiber = Fiber.new do

Fiber.yield

end

fiber.resume

p i += 1

end
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require ’socket’

require ’fiber’

CONNECTION = 64

FINISH = 1000000

RECURSIVE = 0

$fibers = {}

$sockets = {:read => [], :write => []}

def attach(socket, mode)

$sockets[mode].push(socket)

$fibers[socket.object_id] = Fiber.current

end

def detach(socket, mode)

$sockets[mode].delete(socket)

$fibers.delete(Fiber.current)

end

def mygets(socket)

attach(socket, :read)

Fiber.yield

socket.gets

detach(socket, :read)

end

def myputs(socket, s)

attach(socket, :write)

Fiber.yield

socket.puts(s)

detach(socket, :write)

end

def resume(ioset)

ioset.each do |ioset|

$fibers[ioset.object_id].resume

end

end

def eventloop(recursive)

if recursive == 0

while true

if result = IO.select($sockets[:read],

$sockets[:write], nil)

resume(result[0])

resume(result[1])

end

end

else

1.times do

eventloop(recursive - 1)

end

end

end

server = TCPServer.open(12345)

finish = 0

CONNECTION.times do

Fiber.new do

s = server.accept

while true do

str = mygets(s)

myputs(s, str)

finish += 1

if finish == FINISH

exit(0)

end

end

end.resume

end

eventloop(RECURSIVE)

11 Fiber IO

28
第51回プログラミング
シンポジウム  2010.1


